S FERERAISFIREFSEREE—ER

FRENESEES
&H=S F4a FRAISEES 8- 0—-XXFE TR
28§ - JLYOIR TERFHI
1 |HIAE % 280|ZE E3 280
2 |BItEE % 200|E8E Bz 200
EiE
3 |HAETE % 160 By 160
Eafi-
4 |FHBLF % 280|ZE I 280
5 |§ItBER % 200|¥#8& Bz 200
HEYIRIE
—— Bi 80
VIELY kv i
&IREM) Bz 20
6 |mmmH 2 200(BmRE =
ISERE) Bz 20
Rt Bz 40
BmilE Bz 40
etk Bz 40
e £ 40
EX 40
7 |BIEIE EEM
fie i Bz 40
TR Bz 40
N it By 40
E 80—
] Bz 40
8 |miiEmE % 280|m%e Bz 280
L TE BRI B 80
9 |RIEERE JLyOX 160}—
=i 7RRED Bz 80
10 |3l % 280[|ZE = 280
11 |ElEE S 160 i@ Bz 160
12 |EEt 2 240(|E5E B 240
13 &% % 80| & Bz 80
14 |BlETF % 280|E5E 7 280
15 |&H S 160 #& Bz 160
TRy Bz 40
BR Bz 40
|EHRIAMT Bz 40
N 2 240}
16 |BI5T% = Bz 40
TR Bz 40
TEF Bz 40
T 40| 250t By 40
TBE SR
N % 280|1BIRE TR B 280
17 |Bisms -
EREETR2
E 40| % Bz 40




S FERERNISFIREFSEREE—BR

FRENESEES
&= k4 ERAISEES 8. 0—-XX&F TR
28§ - JLYOIR TERFHI
HH4E s BL 240
18 ) 2 320/ —
e B8 B 80
MR B il B 160
19 ’ 2 240
e =iE PRI NEE | B 80
HEAR BL 80
2y B 40
£ 160
20 |tAET% L By 20
RIS —
PGy i B 20
T 40| T2 B 40
B
21 |fFssis 2 280/ — : B 280
JO0—/ULa=1=5—>3>
22 |{FEAEEERR S 200| &8 B 200
23 |FEuimE 2 200|#a By 200
ARy B 80
BT B 40
2 200
24 |fpEusTR 5 B 40
TEF BL 40
TE 40| TZFitT B 40
[GES
25 |[REMGEEEE S 240|%3 Bz 240
BERAULIE
26 |AH 2 280|&5@ £ 280
27 |xm= 2 240|E5@ BY 240
28 | KHELF 2 240| B o 240
29 |FrHEsE S 160 #& BL 160
TRy
B 120
30 | KHIZ % 160 8B FHitn;
BRIGHR Bi 40
TE 13 (B) B 80
31 |xEILYIX ILwIR 240|Z® 280 (B) B 80
LE 33 (%) BL 80
= 120
% 160k i
32 |;z2m % HERR ES 40
ha 40 @ B 40
= 32
33 | 64— e
BARIRIE B 32
=iE o 80
34 |[BELF 2 120 :
il < L=y 40
SN
‘ — BY 80
JgU—>5+47
35 |FRSE% 2 120 :
~ o, By 20
BlIETE
% N Bz 20




S FERERNISFIREFSEREE—BR

FHENSEES
&= k4 FRANSEES 8. 0—-XX&F TR
£28%l - JLYOR TEBFH
w6 e S 200|=@ B 200
E 40|58 B 40
37 |mmuTr S 200|=@ T 200
38 |1l S 200|=@ s 200
39 [®iaF S 200|=@ T 200
40 ENINIER S 160|#8E B 160
HEAR B 40
N 160 =SEE: B 40
41 EIITE BX BL 40
s TN e 40
E 40| &t BL 40
B
N 2 160 B 160
42 | FEEEHIR 1B
ha 40 @ B 40
YN
43 |EEmEL = 120|I‘RiEBELT K BL 120
Ea—<>  -H—EX
TR
44 |FEEETZ S 120|&EF 1t B 120
s |=m S 240| =@ EorTe 240
= & 40| =@ Eore 40
YN
46 |EEEZE = 120| i EEgE BL 120
BT
47 |¥AHH S 80| i@ B 80
200/#%& 200
48 |ZHHREEERE = 2
ha 40 @ B 40
49 | KR4 S 120/ E@ EoyTe 120
50 |58 S 64| EE e 64
51 | FmME S 64| E5E EorTe 64
=E e e 80
52 |B=pn % Soofs R X 40
RIETS B 40
&k BL 40
53 |EBE S 64| E3E e 64
e B 32
54 |1 2 64| R—Y R | B& 16
o]
FoBE SRR EoyTe 16
55 | At S 80| @ Bl 80




S FERERNISFIREFSEREE—BR

FHENSEES
&= k4 FRANSEES 8. 0—-XX&F TR
£28%l - JLYOR TEBFH
56 |iRA S 80| @ Bz 80
EES AT
B 80
B
57 |gEMET 2 160 :
NESE S
S Bz 80
BEREZSRX
E e 120
ZR=w 40
58 |mEs 2 200122 2
e . e 20
=T
SEfifT B 20
B B 40
WA 40
59 |xz 2 Leof S PEE e
OU—SHAT>R e 40
BEmiE BL 40
1l |HYZEE S 2408 B 240
TE BL 245
M2 | BIEEERENE = 280 s =it (BER) Bz 15
=5
=it (EMTR) BL 20
[SES
2 240 B 240
BiER L CE S ASES BERAIE
ha 40 PH% B 40
TiE 10
4 |mrkm 170k ke
s e 160
TiE BL 52
M5 | FiEmEE = 160| s iz
B 108
BERBHE




